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Worker A takes rs to do a job. Worker B takes 10 ho&ﬁdﬂ_&c saine

- How long skould it take both A and B, wcrking together but independently, to do
hessme o == A (IGNOU, 2003)
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A man can do a piece of work in 5 days, but with the help of his son,
3 days. In what time can the son do it alene 7 -
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; 1d takes 6 hours to type 32 pages
- . working on_an assignment. Ronald | - ill the
SHomaid and "'I.'L;rua Flan takes 5 hours to type 40 pages. How m"‘";"‘fﬁ-'ages.{ =
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P can complete a work in 12 days working 8 hours aday. Q can complete the same

work in 8 days working 10 hours a day. If both P'and Q work together, working 8 hours
a day, in how many days can they complete_the work ? (Bank PO. 1999)
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A, B and C together earn . 300 per_day, while A and C together earn Rs. 188 ang
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